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- (W. 1-3) 9 Gy 73 u=Al &, g w0 S1 9 S2 qur g
frend [ 9 11 fou 3 €| g1 9=t S1 9 S2 & 9 A g,
fita & 3 394 (A), (B), (C), (D) & & &4 a1 @& difea
T @ fAearg?

1. Y-
S1 - 3o feenet sgrge € |
S2 - it e TR B |
fersed
I - 3o foemd, @ 8 |
11 - 3 5, fEaret 2 |
a) Fad [ U gaT g |
b) Fae 11 Ut g € |
c) AlARAIN A= T |
d) giIgIl T gar g |
2. wY-
S1 - Tt wreferat, SoffaR ] |
S2 - goft e, wrefanat g |
faewd I - goft ame, SefifeR € 1
I - Toft erefonat, amet & |
a) haa [ T gar g |
b) Fae 11 Ut e € |
c) AlRANw= g |
d) giIgIl W gar g |
3. ®YA-
S1 - 3 forelt wwean (=) &l Rt THE Tkt |
S2 - Tifore & foremeff ereeht a1fehes Graar @ € |
formd
I - 3 it aifehes divarar et B |
1 - 37 71fOra <At fammmeff & |
a) Fad [ AT gaT e |
b) saet [l = g g |
c) AIRAN T A2 |
d) gilall U grar g |

Directions-(Qns. 1-3) In the following questions,
two statements S1 & S2 are given followed by two
conclusions I & II. Taking the two statements S1
and 52 as true, decide which one of the answer (A),
(B),(C), (D) logically follows.

1. Statements :
S1 - Some players are brave.
S2 - All boys are brave. Conclusions :
Conclusions
I - Some players are boys.
IT - Some boys are players.
a) Only I follows.
b) Only II follows.
¢) Neither I nor II follows.
d) Both I and II follow.
2. Statements —
S1 - All girls are engineers.
S2 - All travellers are girls.
Conclusions :
I - All travellers are engineers.
IT - All girls are travellers.
a) Only I follows.
b) Only II follows.
¢) Neither I nor II follows.
d) Both I and II follow.
3. Statements —
S$1 - Renu can understand the problem quickly.

S$2 - Mathematics students have good reasoning
ability.

Conclusions :
I : Renu has good reasoning ability.
IT : Renu is Mathematics student.
a) Only I follows.
b) Only II follows.
¢) Neither I nor II follows.
d) Both I and II follow.
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U - &1 31 3feh! ot g fawa g2
%Y 1 (S1)-SA B AT |

FHY 2 (S2)-H& FF 2 | T[0T A R T 99 &A1

T gt g |

a) Fad S1, T &l IR 34 & foig yaie ¢

b) Fae S2, TR &1 IR 37 & forg Tt &

¢) S1dS2 Sl feient U= &1 ST G Hehd &

d) S1 T S2 3 AR 7= &l 3TR 34 & foig yate
e

Teh §HY 30 Hied 8 @™ Tedl ¢ | 98 Uedl (e 7 15

Hiex Tgar g foheg gar e & 12 Hiex fthaa S €1

T & XM IR GG & UgT ao ag shaT S § | @
% XY 7 Uga & I §

a) 10 fAme
b) 11 fA=e
c) 12 fame

d) sHE @R T

T & UTE O WV § | 3T N9 9 g 3 fheg
g ¥ 1 99 9199 o foran | 39 91g HeW A 3uasd
Tl & T & oS ¥ e ot ¢ fqu e 1 99 3w
Ty o fora | It ufehar 3Em, el ar off, gl & a1y
SRS | 31 H 3G U 3o & 9 & S o uemr &
& | I H, 9% U qat G o

d) s & = T

g N = 7% - 3%, qa N & Sohs T W 3ih § —
a) 3

b) 4

c) 6

d) 7
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Questions : Is the two digit number odd ?
Statement 1 (S1) - Sum of the digits is even.

Statement 2 (S2)- The number, when multiplied
by 2, fetches an even number.

a) Si alone is sufficient to answer the question.
b) S2 alone is sufficient to answer the question

c) Both S1 & S2 combined can give the answer
of the question

d) Both Si & S2 combined are not sufficient to
answer the question

A monkey climbs a pole of height 30 metres.
In the first minute, he climbs 15 metres but in
the second minute slips down 12 metres. The
process continues till he reaches on the top of
the pole. Time required to reach on the top of
the pole is

a) 10 minutes
b) 11 minutes
¢) 12 minutes
d) None of these

Mahesh has some apples. He gave half of the
apples to Suresh but got 1 apple back from
Suresh. Then he gave half of the apples available
with him to Dinesh and got 1 apple back from
him. Third time he repeated the same process
with Harish. In the end, he was having the
same number of apples which he had in the
beginning. Number of apples he had in the
beginning is

a) 4

b) 6

c) 8

d) None of these

If N = 7% - 3%, then the digit at the unit place of
Nis

a) 3

b) 4

c) 6

d) 7
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10.

11.

e 9 % 1,350 H g &g T I | 3T T TE] B
6% B TR T GEA B 7.5% AT W I | TG H A
A1, 7 g g2 | Gt gl & ha Hed, e § —

a) ¥850,%775
b) % 825,%725
¢) ¥750,% 600
d) 2 775,% 650

999 3R 4000 % A (G FI TFATAT F2d gQ), W
fapa qurter € STt afaf 0, 1, 2, 3 9 4 | FTY ST 6 &
a3 37t & TR & ek ¢

a) 325

b) 376

c) 425

d) 526

ffefed 9ot & srre 3 uel &l F1d ifsig -
ADB,EHEIL], __ ,_
a) LOM, NOQ

b) MPN, QTR

¢) LMN, OPQ

d) NPQ, MNP
ettt & amel ug o 87
6,11,15,18,20 __,

a) 22,23

b) 21,22

c) 21,21

d) 20,21

10.

11.

Sunil bought two items in 1,350. He sold one
item at 6% loss and another item at 7.5% profit.
This deal finally ends with no profit no loss.

Purchase price of the two items are respectively
a) 850,33 775
b) % 825,% 725
¢) T750, % 600
d) 2775,% 650

How many integers between 999 and 4000
(including both) can be formed, using the digits
0, 1, 2, 3, 4 if repetition of digits is allowed ?

a) 325

b) 376

c) 425

d) 526

Find the next two terms of the following series-
ADB,EHEIL), __ ,_

a) LOM, NOQ

b) MPN, QTR

c) LMN, OPQ

d) NPQ, MNP

What are the next two terms in the following ?
6,11,15,18,20 __,

a) 22,23

b) 21,22

c) 21,21

d) 20,21
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12.

13.

14.

15.

16.

PQR STulafagIT,SeSeraur P e enar g |
R, SAATgqar Q, ST derSlerg a T & &iver e
2| Te0 Siel g gad ol AT § —

a) PaR
b) TaP
c) SaT
d) RaQ
H9 RRu M R & (?) & T W $I @1 37&R QT ?

I p D
G
M R ?

~
/@)

a) H
b) I
c) K
d) T & @Ig T

TRAGEF,F, F3aﬁ1 F U A SIS REA R ¢ | 1
Fﬁgrrwﬁaﬂzﬁamwﬁ%rwf\%ﬂﬁa‘%aﬂ?%l
F e F, weant ¢ | fomgen <2 gfaor 1 efR 82

a) F,
b) F,
c) F,
d) F,

A IR AR & 1 fmur Asor &, 20% eier ¢ | favaen 3@
3T forem foa g fS@ fos fasror & wfigr 10% @ sg?

a) 2w
b) 1.5 fe.om.
c) 1f&am.
d) 0.5 fe.m.

et ufera #, UHig a1 @ 741 & 94T YT, SR Y 94T g |
T aToeTt fefcrat wReR aget 3 § | wEIg O & 118t
B ST & | ufert H et feba T 82

a) 17
b) 18
c) 19
d) 20

12.

13.

14.

15.

16.

There are 5 friends P, Q, R, S and T. T is shorter
than S, but taller than PR is taller than S and Q
is a little shorter than S and little taller than T.
The shortest and the tallest are respectively

a) Pand R
b) Tand P

¢) Sand T
d) Rand Q

Which letter will appear in place of (?) in the
following figure ?

I P D
K Q G
M R ?

a) H

b) I

c) K

d) None of these

Four friends F, F, F, and F, are playing on a
carom board. F4. faces towards North and F
faces towards West. F and E are partners. Who
is facing towards South ?

a) F
4
b) F,
c) F,
d) F,
In 1 kg. mixture of sand and iron, 20% is iron.

How much sand should be added so that the
proportion of iron becomes 10%?

a) 2kg

b) 1.5kg

c) 1kg

d) 0.5kg

In arow, Pramod is 7 from the left and Prakash
is 9th from the right. Both of them interchange
their positions. Pramod becomes 11" from the
left. How many people are there in the row?

a) 17

b) 18

c) 19

d) 20
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fagwr - (W= 17-18)
A B8
25 1 ﬂ
E D
13| 23

17.

18.

19.
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e e T O = wfewa # U uRar & e @4
o1 fRef0T € | TTS T ST ahiah 31 U<Al &1 SR & 41
URaR & el A 31 T 33,650 B |

- oA

- R o

- FARSH

- oI ot fRig g w=or o
- Rfea @ s g

- Afgs fAfa

IRER GRT A q9T F-RSH d $ga 9 § ufd 718
| & TE FA AT 8

a) 212,443

2> I o> I o B W = ~ IS~

b) 12,315

c) 11,432

d) 711,441

Ufd g R & o g —

a) T6,000

b) 26,152

c) T6,057

d) 76,048

& TS S & ST S UG 1 X -
Z,5W,0, TK QG ?7?
a) N,C

b) N,D

c) O,C

d) O,D

Directions : (Qns. 17-18)

17.

18.

19.

A B8

25 1 ﬂ
E D
13 23

The Pie chart given below represents the
domestic expenditure of a family in percent.
Study the chart to answer these question if
total monthly income of the family is ¥ 33,650.

A - Food

B - House rent

C - Entertainment

D - Education and maintenance of children
E - Medical and miscellaneous

F - Provident Fund

The total amount per month that the family
spends on food and entertainment combined
together is —

a) 212,443

b) 212,315

c) 311,432

d) 211, 441

The house rent per month is
a) 26,000

b) 76,152

c) 6,057

d) 26,048

Find the next two terms of the following series-
Z,SW,0, K, QG,??

a) N,C

b) N, D

c) O,C

d) O,D
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20.

21.

22.

23.

24.

gfg HINDU o foelt gishfaes weT & 61257 3R
MAN &l 932 fa@r e €, af St "ishfaes sron #
INDIAN ! ferar st —

a) 125312
b) 125132
c) 251312
d) 121523

Tfe, foneht oy &1 HIg Te ATg HIHAR ol 3T el & al
=g T g wfar & < R 6 ffd gnft

a) 16
b) 17
c) 18
d) 19

& TS STl H S U1 o € | U % Tel W 99T
&

acbab acac
a) abaccb
b) accbab
¢) aabbcc
d) baccbb

A, B e g, W C S ewan 4 € 1 D, E & e
{ U B a1 o €l € | 39 99 & Gad o i g2

a) C

b) B

¢) E

d) A

T 1 GATT B -
NHP:0GQ:TLJ: ?
a) UKL

b) VKK

¢) UKK

d) KUK

20.

21.

22.

23.

24.

If HINDU is coded as 61257 and MAN is
coded as 932, then INDIAN will bewritten as -

a) 125312
b) 125132
c) 251312
d) 121523

Ifa month in a year starts with Monday, then
the date of the fourth day after the Second
Saturday in that month, will be

a) 16
b) 17
c) 18
d) 19

In the following series some letters are missing.
Select the correct set of letters.

acbab acac
a) abaccb
b) accbab
¢) aabbcc
d) baccbb

A is taller than B, but not as tall as C. D is taller
than E, but not as tall as B. Who among them is
the tallest ?

a) C

b) B

c) E

d) A

Choose the correct group —
NHPROGQ :: TL]J: ?

a) UKL

b) VKK

¢) UKK

d) KUK
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25.

26.

Teh TS gfaT fom <t SR 321 § | ag U &l g
famm & 60° g Seht € agroRr uet < it faudia fomm
H 105° 97 STt § | 379 ag fohe fgmm A @2

a) W -94
b) 5@

c) ufgm

d) gfgor-ud

A 3 B &gl "oel & 311 gre o eTeeh! & Sahelld WIS
g e 1" A forga faem are?

a) i
b) g
c) s
d) foar

fadw (w. 27-28) - fmAfoifaa o=l & wregf &t a1equl, adhenTa
T 3f< A H T gYIW G —

27.

28.

m‘;’f ?. Download FREE UPSC E-BOOKS

1. uRater
2. HIgeR
3. =

4. ffR
5. fagmoa

6. IMAGT

a) 5,6,2,3,4,1
b) 5,6,3,2,4,1
) 5,6,4,2,3,1
d) 6,5,4,2,3,1
1. 9Rar

2. 9™

3. 9s¥&

4. e

5. 39

a) 3,1,2,5, 4
b) 3,1,2,4,5
c) 3,1,4,2,5
d) 3,1,4,5,2

25.

26.

A girl is facing South. She turns 60° in the
clockwise direction and then turn 105° in the
anti-clockwise direction. In which direction
now she is facing ?

a) North-East
b) East
c) West
d) South-East

A to B, "Yesterday I met the only brother of the
daughter of my grand mother". Whom did A
meet?

a) Cousin
b) Brother
c) Nephew
d) Father

Directions Ons. (27-28) : In each of the following
questions, arrange the words in a meaningful, logical
crder and then select the appropriate sequence from
the alternatives given below each of the groups of
words.

27.

28.

1. Probation
Interview
Selection
Appointments

Advertisement

AL S o

Application
a) 5,6,2,3,4,1
b) 5,6,3,2,4,1
c) 56,4,2,3,1
d) 6,5,4,2,3,1
1. Family

2. Community
3. Member

4. Locality

5. Country

a) 3,1,2,5,4
b) 3,1,2,4,5
c) 3,1,4,2,5
d) 3,1,4,5,2
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29.

30.

31.

32.

33.

'ADJECTIVE' ¥sg H Ucieh &&= &l 7Sl uiHTe &
ST 3T&R T TUT TAF ol &l 3HS USd 78R
vfaenfuq fesan Sirar €, aF 74t ure srae | fohda @)
2i?

a) IR

b) T®

DR\

d) @9

gfg UNIVERSITY zsg & 37&i # 'A' @1 'B' ; 'B'
@l 'C' foraT ST 991 29 YR Terd Sy, | fAEfafed
31er B Q i 91 378K gifge @ e 378 & o1 3R &1
e araR 2

a) M
b) A
c) Z
d) T & =S T

T 3 & | I G §, 98l §R 916 9T g1 & S
T el §U SRt foig & &1 &l Ifdt hifig —

TALE: LATE:: ?2: CAFE
a) FACE
b) CAEF
¢) FEAC
d) CEFA

AT &t G 3T A Bt GRTH G R A T g 1 12
Ty a1g A ST IS I 3 il G T G ST | A
&t IR ST TRt &2

a) 1899

b) 16a¥

c) 1499

d) 1299

el 2 7T Sl 7 e U8 W &, AW UG I Udl sy
M3V, 05U, R7T, T9S, W11R, ?

a) Y13Q

b) Z13Q

c) Y13P

d) Y15Q

29.

30.

31.

32.

33.

Each vowel of the word ‘ADJECTIVE' is
substituted with the next letter in the English
alphabetical series and each consonant
is substituted with the letter preceding it.
How many vowels are present in the new
arrangement ?

a) Four

b) One

e) Two

d) Three

If from the letters of the word UNIVERSITY,
‘A’ is written ‘B’, ‘B’ is written ‘C’ and so on,
then which of the following letter is the third
to the left from third letter from right?

a) M

b) A

c) Z

d) None of these

The relation which is in between first two,
establishing the same relation between the last
two fill up the space of question mark

TALE:LATE:: ?: CAFE
a) FACE
b) CAEF
¢) FEAC
d) CEFA

Present age of mother is three times the present
age of daughter. After 12 years mother's age will
be twice of daughter's age. What is the present
age of daughter?

a) 18 years
b) 16 years
Cc) 14 years
d) 12 years

One term is missing in the following series,
find the missing term -

M3V, O5U, R7T, T9S, W11R, ?
a) Y13Q
b) Z13Q
¢) Y13P
d) Y15Q
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[Nl e

fiSw- (w7 wHiE 34-35)-Fmfofed gemmell @ amafa
AT & IR GifoTg —

34.
35.

36.

37.
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(i) 'Px Q@3 'P, Q& fuar g

(ii) P- Q@& 'P, QFlsm &

(i) P+ Q& 'P,QH A Y

() P+Q@®ad'P,QHAZR

B+DxM + N aifSaafa & M & B @ g §

a) Uit

b) e

c) I

d)

7 & & 1 wafiia ear & f% R, M &t ittt €2

a) M+KxT+R

b) M-J+R-N

) R-MxT+W

d) R+ MxT+W

afg 'eraser’ @ 'scale’ 'scale’ @ 'sharpner’,

'sharpner' @ 'pin’, 'pin’ @ 'bag' @ 'bag' @' 'pencil’

gl ST &, < Ueh At fopad feraom?

a) scale

b) pencil

c) bag

d) pen

gam @ AC, DC €, %9 DC, EC & ¥ EC, YY
|

ey —

(i) 5 AC, EC &1

(ii) 5 YY, DC €1

(iii) ¥ AC, ECTEI €|

(iv) @ft DC, AC €|

g frer € -

a) oad (i)

b) & (i)

o) (i) 3R (iii)

d) (ii) 3R (iv)

Directions (Qns. 34-35)-Following questions are
based on the information given below -

34.

35.

36.

37.

(i) ‘PXQ’ means ‘P is father of Q’
(ii) ‘P-Q’ means ‘P is sister of Q’
(iii) ‘P+Q’ means ‘P is mother of Q’
(iv) ‘P+Q’ means ‘P is brother of Q’

In the expression B+DxM+N, how is M related
toB?

a) Grand Daughter

b) Grand Son

¢) Son

d) Daughter

Which of the following represents ‘R is niece of
M’?

a) M=KxT+R

b) M-J+R-N

¢) R-MxT=+W

d) R+ MxT+W

If ‘eraser’ is called ‘scale’, ‘scale’ is called
‘sharpner’, ‘sharpner’ is called ‘pin’, ‘pin’ is
called ‘bag’, and ‘bag’is called “pencil’, what
will a person erase with ?

a) scale
b) pencil
c) bag
d) pen

Statement : All AC are DC, some DC are EC, all
ECareYY.

Conclusion:

(i) Some AC are EC.

(ii) Some YY are DC.

(iii) No AC is EC.

(iv) All DC are AC.

Then correct conclusion is -
a) only (1)

b) only (ii)

¢) (i) and (iii)

d) (ii) and (iv)
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38.

39.

40.

41.

42.

I eT A 9 B, 125 foelt, i gl R | Tk @fe P, e
A ¥ g B &l 3R gug 07:30 &1, 25 oAt wfd e
&I SR @fed Q, =g B ¥ WeY A & 3R gug
07:00 5, 30 forrtt. ufa e it 7ifq @ gt E A &t fobey
T el ?

a) 09:30 a.m.
b) 09:45 a.m.
¢) 10:00 a.m.
d) 10:15 a.m.

6 T qUT 2 Asfhal el &M &t 5 ol & o= Fea
&, Stafeh 13 we a1 7 cighal IEt ol 2 fort &
TR G &, A1 7 ASeh AT 3 ASIHAT S8 I Bl A &R
ot |
a) 4 d

1
b) 4 i
c) 6fgaid

1
d) 61%?%

P P+Q
qﬁ——7W—P7QWHﬁ
a) 1/3
b) 2/3
c) 4/3
d) 7/8

Paur Q o et sm @l 12 A A e @a €1 Q
T R6fAHIPaarR4 A H, @1 P, Q Rus @y
THeTeRT &M &l 9 T —

a) 2fgaid
b) 4 A A
c) 5frH
1
d) 5gﬁ$ﬁﬁ
fRfafad & e a1 sradafades sivd | giifdad 82
a) fe <l U= ol TEt IR 4 Y G

b) =fF A gER Aferidl & T T ATATATd e
i

c) fert dl TE a0 T U1 B A bt JvgaT
d) =fe &t g § f9uR Yebe & &t araar

38.

39.

40.

41.

42.

Two cities A & B are 125 km apart. Person P
started from city A towards city B at 07:30 a.m.
at the speed of 25 km/hr and started from city
B towards city A at 07:00 a.m. at the speed of 30
km/hr, then they will meet at

a) 09:30 a.m.
b) 09:45 a.m.
¢) 10:00 a.m.
d) 10:15a.m.

6 boys and 2 girls can do a work in days, while
13 boys and 7 girls do the same work in 2 days.
Then 7 boys and 3 girls can complete the same
work in

a) 4 days

1
b) 4g days

c) 6days
1

d) 6zdays

h he val fP+Q fP T2
What is the valueof —— —if —= /7

P-Q Q

a) 1/3
b) 2/3
c) 4/3
d) 7/8

P and Q together can do a work in 12 days. Q
and R in 6 days. P and R in 4 days. If P, Q, R
work together they will complete the work in -

a) 2 days
b) 4 days
c) 5days

1
d) S g days

Which of the following is included in
interpersonal skill ?

a) One's ability to give correct answer to the
question

b) One's ability to interact effectively with
other people

c) One's ability to do his/her work properly

m‘;’f ?. Download FREE UPSC E-BOOKS
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43.

44.

45.

46.

ffafad & o O SRe sTaaiade S ol THIed
A A &2

(i) e

(ii) ®9-&1

(iii) TRaR

(iv) fra

a) (i), (iii) and (iv)

b) (i), (ii) and (iii)

¢) (i), (iii) and (iv)

d) (i), (ii), (iii) and (iv)

Tfe 3T TS & NI ! HRPR o (bl HIehA & favg
H ST 97 SANTES BT TR @, A Fairds Suge
gayor fAfafad § i ar g?

a) TTY-TE FEHIT

b) fg-wmifa Ty

) 3Mfsge gy

d) S gwyor

T GiTe H 3T ST=Ida aRich IRTel & g Al &t
SNaRI T § THifeh

a) I ek IATEHR B € |

b) 3 gHETT & GHTYH Wierd § |

¢) A A HY & URT IS AHGRI @ € I
d) TR
ST=Idaferes g H gimferd & -

1. §feha 98 g

2. U4

3. SUgEd Wl

4. g3UOT

a) & (1), (3) T4 (4)
b) et (2), (3) @ (4)
¢) @ (1), (2) T (3)
d) (1), (2), (3) T& (4)

43.

44.

45.

46.

Which of the following are influencing factors
of interpersonal skill ?

(i) Experience

(ii) Appearance

(iii) Family

(iv) Friends

a) (i), (iii) and (iv)

b) (i), (ii) and (iii)

¢) (i), (iii) and (iv)

d) (i), (ii), (iii) and (iv)

If you want to address or to make aware all
the citizens of your state about a particular
programme, then which of the following is the
most appropriate communication ?

a) Small group communication
b) Two-way communication

¢) Non-verbal communication
d) Mass communication

People with good interpersonal skills are
required in an organisation because

a) They are more productive.
b) They look for solutions to problems.

c) They have positive attitude towards their
work.

d) All of these.

Interpersonal communication includes
1. Active listening

2. Persuasion

3. Suitable language

4. Feedback

a) (1), (3) and (4) Only

b) (2), (3) and (4) Only

c) (1), (2) and (3) Only

d) (1), (2), (3) and (4)

m‘;’f ?. Download FREE UPSC E-BOOKS
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47.

48.

49.

50.

51.

TSt & UTH 5 [T 3R o aeial € | afg Sie’l &
P 43 FaT & SR Pt 142 W, 1 Tel & I e foereit
et &2

a) 128

b) 21

¢) 15

d) fyifea 4l forar S wear

42 73 U= @l ATFYaE ufed

1. 7 faAi & famel &t g

2. 60 GwTRl H e &l e

e e o -

a) (1) <l Arer (2) S AT w2 |

b) (2) &t Hrelr (1) <l AT & NS B |

c) 3 &t AT SRR g |

d) e e ol S Hepelt |
mnmnmnnnmmnmnmmmmnnminmin
Q@ b 'm! € S geiardi 'm' @ 3 argadi 'n' €2
a) 2

b) 3

) 4

d) 1

g gad fawm Tenett A,B, C, D 3R E & 3itgd 41
21 A 3R E &1 70%e i —

a) 1977
b) 1517
c) 1665
d) 1591

afe; forelt et B 60% ST a1 €, T DTaTST ol e
812 ¢, a9 dTeten! el Tredm gt —

a) 1218
b) 1200
c) 1217

d) 1210

47.

48.

49.

50.

51.

Pal has some hens and some goats. If all heads
of animals are 43 and feets are 142, then how
many hens Pal does have?

a) 128

b) 21

¢) 15

d) Cannot be determined.

Read the given statement carefully

i) Number of minutes in 7 days.

ii) Number of hours in 60 weeks.

Choose the correct option -

a) The quantity of (i) is greater than quantity
of (ii)

b) The quantity of (ii) is greater than quantity
of (i).

c) Both quantities are equal.

d) Comparison cannot be determined.

mMNMNMNNNMMNMIMMmMmMMmNNmmn

How many ms are preceded by ‘m’ and
followed by ‘n’?

a) 2
b) 3
c) 4
d) 1

Average of five consecutive odd numbers A, B,
C,Dand Eis 41. The product of A and E will be

a) 1977
b) 1517
c) 1665
d) 1591

If 60% of the student in a school are boys and
number of girls is 812, then the number of boys
will be

a) 1218
b) 1200
c) 1217

d) 1210

m‘;’f ?. Download FREE UPSC E-BOOKS
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52.

53.
54.

55.
56.

57.
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TS o TH Ueh TR T 35 Ul <ht 3ad it 31 23
qy ot | 5 99 & q1¢ 37 U 1 9y & g5 ¢ | 379 g
IRaR & Sfigd ey fehat 82

a) 199%

b) 2805 a%

c) 23a¥

d) 29.3a9

Ig G foraT 124%, 175% &, BHT —
a) 1404

b) 1440

c) 1044

d) 404

8400 T 32% + 760 I 15% I A & —
a) 2912

b) 2848

c) 2722

d) 2802

3 AfRat 8 : 9 & orqua # € 1 3fg 398 veelt 24 €,
FEd AR E -

a) 7

b) 9

c) 7

d) 63

forgit G &l S TAT | 15 FH, 25 & SRR g, a9 98
T gt —

a) 20

b) 25

¢) 30

d) 35

g n 3fiX p gl favm e €, df Fmfafad genet
& @ i gt e gm gi?

a) np

b) n+p

c) np+2

d)n+p+1

52.

53.

54.

55.

56.

57.

At the time of marriage the average age of
woman and her husband was 23 years. After
five years they have one year kid. Now what is
the average age of whole family?

a) 19 years

b) 28.5 years

c) 23 years

d) 29.3 years

The number whose 12% is 1754 will be
a) 1404

b) 1440

c) 1044

d) 404

The value of 32% of 8400 + 15% of 760 is
a) 2912

b) 2848

c) 2722

d) 2802

Two amounts are in the ratio 8:9. If the first one
is 24, then the other quantity is

a) 7
b) 9
c) 7
d) 63

Twice of a number decreased by 15 equals 25,
then that number will be

a) 20
b) 25
¢) 30
d) 35

If n and p both are odd numbers, then which
will be even number of the following numbers ?

a) np
b) n+p
c) np+2

d)n+p+1
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58.

59.

60.

61.

62.

gfe A x B aeig, A, BHaf@uiaig; A + Barard
LABFIRATCA+BAITEL A, BFRIAE,
A A-Baradg, A, BHufgmag, P+ Q+R-S
#S, Q &y forg figem # €2

a) gfgor-gd
b) sfgor-ufgm
c) ISW-gd

d) Sw=-ufgm

Tfe + @1 3 +, — &1 31 +, X &l NS — 3MR + &1 371
X g, @

16 +124+4-6x8=7?
a) 36

b) 46

c) 196

d) 162
A,BwHBa® B, CHrfaa gl
frepg: A, CH a1
Iugerd ey

a) TAgI

b) sEARI

) fAf=a gl

d) emmafie g1

Teh T A G ol T SR 1431 T Uehet ol &1
T § 18af ¢ | Afg Gk o T A9 @ 263 &, O I
Y Yehol o1 I FIT 8 ¢

a) 26af
b) 22af
c) 20af
d) 214t

Ueh ISt die1g gue H 15 fAe ) &1 STl € | 38 el
12 99 gel fohar ST &, < 4 am W 9t H fobeen wHg
e

a) 4:10am

b) 4:15am

¢) 3:45am

d) 4:30am

58.

59.

60.

61.

62.

IfA x B means A is in the South of B, A + B
means A is in the North of B, A+B means A is
in East of B, A - B mcans A is in the West of B,
then in P+Q+R-S in which direction is s with
respect to Q?

a) South-East
b) South-West
¢) North-East
d) North-West

If + means +, — means +, X means — and +
means X,then16 +12+4-6x8=7?

a) 36

b) 46

c) 196

d) 162

A is a friend of B and B is a friend of C.
Conclusion - A is a friend of C.
The above conclusion is

a) True

b) False

¢) Uncertain

d) Irrelevant

In an examination Sudhir's position is 14®
from the top and position of Pankaj is 18"
from bottom. If Sudhir's position is 26™ from
bottom, then what is the position of Pankaj
from top ?

a) 26"
b) 22t
c) 20™
d) 21t

A clock is fast by 15 min. in 24 Hrs. It is made
right at 12 noon, what time it show at 4 am ?

a) 4:10am
b) 4:15am
¢) 3:45am
d) 4:30am

m‘;’f ?. Download FREE UPSC E-BOOKS
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63.

64.

65.

66.

67.

68.

T & TE TR Gl H, ¢ F WM W HA G e
FTGT?

GDFCEZ®

a) A

b) B

¢) H

d) I

W S T 1eR g | 2 % W W P 91 S8R
FTET?

IDYTO 2

a) I

b) J

c) K

d) L

T IS MeR gEe H 'Y F WM W B qT 3NeR
STm?

WTROM]J 2

a) F

b) Z

c) H

d) K

ffafed & @ -9 wit-verg s<and § & &2
a) - adt

b) - wit

c) - 3fier

d) - oA

"REAT B Sl G aead g2

a) - s

b) -z

c) -3

d) - gz

BTSN H ATl Ueg o1 Tellfeitn givm —

a) el

b) el

C) e

d) s

63.

64.

65.

69.

70.

71.

Which letter comes in place of “?” in the

following letter series?
GDFCE 2

a) A

b) B

¢) H

d) I

Which letter comes in place of ‘?’ in the
following letter series?

IDYTO ?
a) I
b)J
c) K
d) L

Which letter comes in place of “?’ in the
following letter series?

WTROM]J 2

a) F

b) Z

¢) H

d) K

TG H W oG I GgaaT & —
a) @aad

b) @d - @R

c) @t

d) gst @a

" & ST TgTaR 7Y § —
a) faamr &

b) gfea &

C) GHIW LAl
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72.

73.

74.

75.

76.

77.

78.

'R B -8 THE g2

a) A

b) HHYRT

c) aTE

d) fa

" BT % feiq SREIel Here € —
a) el gl

b) igg-aigr g

) T Y&

d) =gt gz
BTG SN ¥1eg o 1 ¢ -

a) e@r

b) St

c) em

d) gen
TSN Teg, ‘et ol 3T § —

a) fouemel

b) firfire

c) fegr

d) e

BIETS! Weg 'aT @l fed) - gAmeif @ -
a) &

b) @&d

c) e

d) =t

" 31T T T e, UT o S e TRt b 37 ¢ —
a) T=AT

b) =

) Sfar

d) Fdst

"8 W SIS B, RER A US B URel! @l o1 § -
a) qadt

b) et

c) =

d) S

79.

80.

81.

82.

83.

84.

SIETE! W SIS oy o &e # e €, 98 € -
a) A

b) afeoft

c) g

d) dfget

"3i1g & T R o e Afew # T R 8 -

a) feranferegor

b) Este

) SHEINYH

d) faerarfestye

UG USH & TSg-Tid "SRUT O &% YR ... 6
MR BT AH S —

a) gHRaR T

b) ueH glam

c) SI. g g ant

d) weAoT FEfer

"SieTaTel dh TGS YT % A - 5 8 —
a) e, faTaeaR uress 19 <. Hisid 9o

b) . e # @@ <. g =t

c) . TR I Hedie T . ferater

d) <. fegricre |1g 1d . Hiqdaq ua
WA @1 49- e g -

a) ¥+ A9

b) U + A

) WS+ HH

d) v+ 79

Tt T TaTETe W el € —
a) held

b) g’

c) gt

d) wmorfsrn
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85.

86.

87.

88.

89.

90.

"G5 Uk 3TE1 OTdl ¢ |" a1ed H Yehdaraes ga19 g —
a)

b) T&

c) I

d) o

T X oo Usgf A a8 ¢
a) g

b) =

¢) IR

d) =2

"l uTet ug ST 6w 37 ¢ —
a) ©H &Ll

b) W= &

) T At gie T

d) foR == Ut g
Tt afy - g R -
a) o + fag

b) a1 + Afdg

c) 9+ g

d) sffafa+ 3
frfifea # 4 g arr & -
a) # od W faced 3w

b) & ©a H faeeit @ |

) &3 oa R faceh 3t |

d) # od & Su foeett 3@ |
fafrfa A aggasg e -

a) ufed

b) TwEla

c) wfed

d) ¥pfea

91.

92.

93.

94.

95.

96.

A & fohaa g €2

a) dF

b) IR

c) Ut

d) 3%

Herrrer’ & i - T TAE € ?

a) wgsilfe

b) wHYRT

o f&

d) &

‘PE@ a7 'R g TT-uRar 3 faia it &2
a) 3Mmd

b) afae

c) g

d) foreseht - <t

STNETE! T YT AR & A i - B § 2
a) 2. faTaeaR uress T4 <. fardeAR e
b) =i foTaeHR urew TF <. forigeHR e
c) @ fFaFR urew g . faigar ant
d) <. fegAR uees T <. fariggmar ant
ffafad & @ gdf sxiiard & siata amit g -
a) e

DRE

c) @t

d) st

T} et : ATRTOT 3R FIRT & G © —

a) €. g 3aant

b) . o #R

c) . T g Hedn

d) dt. gg. ugrt
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97. TS & @ o UL # WEK & & feg
DA TSTHTT STENT GRT Sl - G HAhA el
AT E?

a) H1E Hiet
b) fecrer

C) Y Pt
d) et

98. 'TIRE' Ieg YT I HI-TT UPR &2

a) gHaE®
b) "Hga™®
IR IECIEED
d) sufaeares

99.

100.

3T H Tehl 112 HIS A} B ST H T had €2

N

d) smag
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INSTRUCTIONS REGARDING METHOD OF ANSWERING

1.

QUESTIONS
(Please use Black Ball Point Pen Only)

Method of Marking Answer :
To give an answer, please darken one bubble out of
the given five, in the OMR Answer Sheet against that
question.
Valuation Procedure :
There are five answer to a question, only one of them
is correct/nearly correct. 02 marks will be awarded
for each correct/nearly correct answer and 0.66 mark
will be deducted for each wrong answer. If more than
one bubble are darkened for a question, it will be
treated as wrong answer.

Handling over of Answer Sheet to Invigilator :

(i) Please ensure that all the entries in the answer
sheet are filled up properly i.e. Name, Roll No., Sig-
nature, Question Booklet No. etc.

(ii) Before the limitation of 2 Hours duration while
leaving the examination hall, hand over the ques-
tion paper to the invigilator. If needed, after dura-
tion of period, you can ask for your question paper
from the Center Superintendent.

Care in Handling the Answering Sheet :

While using answer sheet adequate care should be

taken about tear or spoil due to foldsor wrinkles.

1.

w2l & IR o Fvaeeh fAder
(PUAT BT STeT 4TSV A BT & IR YY)

IR & BT DI :

3R &4 & fo1d 30.0A.31R. 3R Yfiopl # Taif-ad U9 & &15]

& o gt sl & A Faet Uabs Mt & R Hletl HIfv|

Hedidh Ugla :

TP U & U JIfad 3w &, 30 F P I e /

TP TET €1 9 BT RT / TPTRT el 3R 3ifdd B3 3 02

3 UTed 13T AT ITetd 3R 3ifdpd A W 0.66 3ib el

SRR AfE Uas & SATET 3t it fbd ST & oY g ITetd 3R

HIAT ST

IR 2fie fars S i :

(i) e Bl ITReMe Ao F vga JAET B o & 3R-
2fte & S g8 o= eft gfefan S A1, et TR, EXAIER,
TY-gReTeBT BT AR, 371fe FAiRd 32 R Sip-8 R
TR

(i) 2 G0 BT FHY AT &b Id TRI&T BTcT Bled FHT FH-T
dfiarer S U STHT 3| Ife; HTGeI G3AT I 9T Y-
AR U1 R Tehd ¢

FRefte & 33Ut # Jraer

IeRefie &1 9T aRd FHY R @RE F FaeH Rl 3

e, HigA AT Felde Ug4 A TRIE 7 8F 3
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